2. 32 — 1+
2 3
7 3

4. 1L - 2%

5. Find the area of the shape.

2yd

9 yd

6. Find the area of the shape.

N\

77

6cm

N\ I_i

77 12cm

7. Find the area of the shape.

10 my




8. Find the area of the shape.

5cm

3cm

9cm

9. What did you have to multiply the sides of the blue triangle by to get to the green
triangle?

10

10. What did you have to multiply the sides of the smaller triangle by to get the bigger
triangle? Find the length of the missing side.

TRIANGLE 1 TRIANGLE 2

P 20 ft I

7t




